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F�>‚�̧ �e�7 1000�ð�¬
��Ç �e�7�qH� 10�õ4ÝM (̃},ºC»�]?ú W�?5* W


Á,º�¬>‚+U�F�=�=(}�Ç�?5*(Ÿ�‰�@8¨>žM˜B%�$�O 2mm�Ç�Ô)æN¯-$



 ��  10����

.J
��¶�e
̂ �Q�æ�Q�E�Ý�P,º�Ê+ /̂p99�̧ E¥�,K6�d 2000�•���@�>  

�?�©B*�D�Æ+g�7�P(«�j+i�Û�>  

1.13Q��pK�
>H��Ô�†�lFV�¶�e
̂ �]
Á�Ø�p
Â"G+^8 �̀_�lFV�c

,º�Ê+^/p99�́ �Ê+^/p992±�µ  

.J0¬�»�ï�ÆJ¾�/
3�Ý�]
Á�Ø�p
Â"G+^8`�_Q��pK�
>H�5	�º

�,�̧ .J0¬�0�Ä�Ô�†�lFV��8°,º�]
Á�Ø�p
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�Ä�Ô�†�lFV,º�Q�æAôA×�=�!FU.J
��=Q��]73�lFV
Â�!FU5*�$�ž#w



 �������� 11���� ��
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31�̧ �̃ �FE±H�H��=Q��]73�=Kµ�5
³�=Q�
%M–�=Lü4Ü	L�=�L
p�!FU

5*�$1•�~F�,ºAôA×�D�lFV�¶�e( �̄·�Ç315�4Ý�ì�º4ú�F5	�º�,�¦H�
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69�n�=�=�ÆM,G��,�l�’2ô�Ü
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1.19
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2kW@100μm �•4Ú6\
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̂3�Ý%ö�•�ž�̧ �6
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B!›�¶�e�̧ Q��~)½�„5pL­%ö�•�C
>�Ö���¶�e�̧ �Ø3X�P(Ÿ*<H��C
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69�n�=�=�ÆM 
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